1190
35 1103 52
Mite A2 ORE 6mm Q Q@\ MR E /A2 L ORE 6mm
(N
2 N I o
I~
SN
|
te
- N}L 3 3 of =
S 2|
C
(@]
[e@]
(@)]
g,
(-] \\ \\ Og
= @éé@f D 2 3
(@]
2
RGO
0550

BN (1720

Anafl. &ESO8
) AROKREIASETETT,

_

oo

A BN (1/8)

) BRAKIZROL:S. FERKEET 2o LAHVET,
RIEF: vy 95—l BRFEREBVES,
Yy 45— (v75-8) CDYV-XxZBALZEO,
(Ky 7ty +64mm. BES0mm) )
TEOBAE. BRI I -y VY% TBALELO,

tg/

OfFEN (17 8)

& & |sRESN<URFE BEHMT )
54 7 | vyyyy-5ARECD
& % |H1800

1190 (K&

KFTHO5259* 1

N (178)

&% LR B % (mm) 1] g i z
1 RAE 0100x50xt3.2 STKR400 HERKREE (THEHD- )
2 FHE 0100x50xt3.2 STKR400 BERKREE (ThEH®- %)
3 FEME (RAD 50x 120 AB063S BRELCEARE
4 PR GEAD 50x 120 AB063S BERECEORE
5 MEER 25% 60 ABO63S BRELEORE
6 HH< LER t3.0 7 IBEEBRAN -
7 K- F - I7AMv- -
8 fein n- 12 A1100P 2§
9 Rixvy 7 # 16/ +40Y -
10 vy 45—t CDyy-% - y7 4 -8
11 R TL -} t2 ATV LA -
12 SERMTL -+ t2 A7V LA -
13 it 060x 30xt2.3 STKR400 BENKREE (ThdEH®- %)
14 PPEY t6 SPHC HERRZE (THERD- X
15 kyy t6 SPHC BERKEE (ThEH®-> )
16 by IiE $12 SGD BRED - &
17 gy 4x 20 A7V LA -
18 Eg 12 Xl -
19 ZED) 3.2 SGH HERRZE (THERD- X
20 Bt AW b M10x 90 4.618% ERldsD - &
21 ¥Ry M5x 10 ATV LA -
22 " M4x 10 A7V LA -
23 FIABRY M8x 45 ATV LA -
24 EHEN2Y M6x 15 ATV LA -
25 F7A by - H52 VIS4 NHAG -
26 LGy M10x 125 4.618% BREHDo &
27 LY YRREE t13.5 SPHC BERGEE (ThdEin- %)
28 B LIt - Bardn -
29 ff &y b M8x 20 4,614 BRI - &
30 iREE t3.2 SGH - & +HIENREE
31 R b M8x 115 4 .618% BRED - &
32 | wSHhA- BEER t1.2 SGHC Ffs- & +HENMREE




